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QUESTION 1

Which of the following problems shall be considered when selecting the UPS cable? (Multiple Choice)
A. Rated current of the UPS

B. Rated operating voltage and insulating voltage of the power cable

C. Voltage drop of the power cable in the route

D. Number of the parallel cables

Correct Answer: ABCD

QUESTION 2

Which of the following products is similar to the modular UPSs of the UPS5000-E series in product features?
A. Hipulse-U

B. APM

C. NXr

D. 80-NET

Correct Answer: B

QUESTION 3

Which of the following conditions shall be considered when calculating the UPS rated input current? (Multiple Choice)
A. UPS rated output apparent power

B. UPS operating nominal efficiency

C. Battery inversion efficiency

D. UPS battery charging efficiency

Correct Answer: ABD

QUESTION 4
The number of batteries can be adjusted in the process of UPS configuration.
A. TRUE

B. FALSE



Correct Answer: A

QUESTION 5

Which of the following are the highlights of the UPS2000-G series (6 kVA to 20 kVA)? () (Multiple Choice)
A. Reliable

B. Efficient

C. Simple

Correct Answer: ABC

QUESTION 6

Which of the following statements are correct about the UPS5000-A smart battery management? (Multiple Choice)
A. Support battery hibernation

B. Support battery temperature compensation

C. Support switchover between equalized charging and float charging

D. Adjustable number of batteries

Correct Answer: ABCD

QUESTION 7

What type of air conditioner does the Fusion Mod ule800 basic configurations adopt? () (Multiple Choice)
A. In-row air conditioner

B. Rack-mounted air conditioner

C. Air cooling

D. Water cooling

E. Air conditioner with a heater and humidifier

F. Cooling only

Correct Answer: BCF

QUESTION 8

The UPS capacity of the FusionModule800 include (). (Multiple Choice)



A. 10 kVA

B. 15 kVA

C. 20 kVA

D. 30 kVA

Correct Answer: AC

QUESTION 9

The UPS5000-E has strong load adaptability. It does not derate in case of leading/lagging capacitive/ inductive loads.
A.0.4

B.0.5

C.0.6

D. 0.7

Correct Answer: B

QUESTION 10

Compared with the industrial frequency UPS with the SCR, the high frequency UPS with the IGBT rectifier can greatly
reduce the input current harmonics and improve the input power factor.

A. TRUE
B. FALSE

Correct Answer: A

QUESTION 11

For the 6-kVA UPS2000-G, a 1+1 parallel system requires () DB15 parallel cables to ensure that each UPS is
connected by at least two parallel cables and to enhance the parallel system reliability.

A.0
B.1
C.2
D.3

Correct Answer: C




QUESTION 12

The parallel signal cables of the UPS2000-G series (6 kVA to 20 kVA) are connected in () mode, which avoids the
impact caused by a faulty parallel cable and enhances parallel system reliability.

A. Ring

B. -shaped

C. Y-shaped

D. Single cable connection

Correct Answer: A
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